Model answers
Question One:
A:
1- Because some twins have less one-to-one interaction with adults than single babies have, and they spend more time communicating with each other.
2- Stimuli
3- It is tempting to believe that these twins really do make up their own secret language.
4- The baby starts to try out experimental noises and mimic sounds.
5- Some twins seem to develop their own language
6- Students’ own answer
7- Students’ own answer
B: 
1- The poet stopped to hear the song.
2- The time passed fast

Question Two:
A:
1- Pensions
2- Track record
3- Dietary
4- Makes a difference
B:
1- Get cold feet
C:
1- Dominate
2- Competent

Question Three:
A:
1- Didn’t they?
2- Be offered

B:
1- English is more popular than Maths and Science.
2- Do you know if there is a connection between the amount of TV people watch and how fit they are?
3- People believe that doing regular exercise reduces the risk of several diseases.

Question Four:
A:
1- If Sami had applied immediately for the scholarship, he could have gotten it.
2- I wish I hadn’t lived abroad for a long time.

B: 
1- Showing cause / explaining the reason for something

Question Five:
A:
1- Believes 
2- Biology
3- Dentistry
4- Important ,

B:
1- England and Turkey have the most compulsory education
2- Jordan and Japan have the least compulsory schooling
C: 
Students’ own answer

